¥ plen 3059037 pb & el 2 TG b g oL
Wb/ gy
aado Y8 : b [ 9-'.2} "
o S ol 23198 / ¥ e
\FeY/N/YF i005T 61 &6 $o-c (jgel ale amwhs S5m0 SBT3z b b
e23lgs ks oL aslmly 9,
o (W b (¢ ol Sy d yo G (& C (Al \
(OWl) (Jsl 939 = polezr Jad) (0 503 o/ YO 590 y2)
o)== T i o/0) (0505 /YD) oo b5 cas M = (=) (I
—\+f ¥
m=fy=1 (o
v Y
y—y°=m(x—x°):>y—o=;(x+f)(°)“; o/ Y8)
Y’y—TX=A(°)&5 0/&)
(Bawgio) (Jgl 50 = £k Jad)
X+Y Y X+Y¥—-fX-Y
_ e —(%=1 _
oolows b s M=) = lim FOZIO gy i XN ¥ gy =y YO iy 6o
x> X—) x> X—) X X—1 X \‘(TX+\)M q
N v d N )
(o yas o/¥8) (o yai o/Y0) (o yoi o/8) (e,n-: o/8) ¥
‘_’;.:Lo.obaw m=f’(\)=?(o)n5 °/A)
(baasgio) (Jol 03 = sz )
(b}.od o/rﬁ)
F100 = lim foeh)—f00 _ Ux+h-Yx 00 = lim x+h =) (x+h)" +I/x(x+h)+‘\'/x_')( o)
— L M7 - = 0 yond ©
h—o h h—o h h—o h-(”(X+h)Y +(/m+{‘/x—f) >
f
f/(x) = lim X+hA = £(X) = —— (o yoi */ Y8)
> . ({oc by + PxGer ) + U7 e
(b).o.i °/A)
(Y gi0) (290 ()0 = p )l Juad)
(&
lim f(x)= lim (¥x"=v) =)
x——1F X—>—Y
lim f)= lim (X" +7) =) | = el awgm X =19 F(X)
X—=—1" P (ool olt) /
f(=1) =" 7
— — r— — —
frey= tim COTIEY PTG YOOV o)
x——y+ X+ x—=>—t  X+) X—>—) X+
Y _ Y _ D
fr (=)= lim X4V lim M=Y‘(a)&so/b)
x>t x>t X+

10 aligS X =) o azmut jo L (—) #FL(-) 9 Cowl dtwgy X =1 jof
$(=Y,)) g abaili (o
Cowly wlow o ol My =T (<) = =51y =1= (X +1) = Y = —FX =B (6 yoi o/ Y8) cesly (oloo o
(o yoi o/70)
G2 oo i el My =2 () =YYy 1= ¥(X+) DY =YX+ F (o yai of Y0) gz (oloo o
(o yoi o/78)
(Bawgio) (pgd oy = prler i)




¥ plen 3059037 pb & el 3TNl oL g pU

aado YO 1 ybo [69_[:} Wb/ goyd

ool p233198 / ¥ (bl
VP /N/YF 209037 5515 2 80,56 S8c (ibjgal (ale aumie &m0 GBT 7l b o6
e3lgs ks oL aslamly 9,

ey SlS anas 4 Lo
oo X=T 50 F(X) > .l diwgm X =Y 50 T(X) (0405 0/ YD)

lim 160 = lim f()= lim (Xi_‘)= lim (Ycos(mx) +X) (s yas o/ ¥0)

X—Y X—Y X—=Y X—Y
a=vb+y=>|a-vb=¥ |atyl, (o ai o/ Y0)
-a
- x>y=f/(Y)=-a 4
f'(x) =9 (x-)
(o50 /%) | _ybrsinmx+1 X<Y=fL(Y)=o4+1=)

fL(Y)=f.()=>-a=1=|a=-
lailye =V (0503 oIY0)

b )8 Y

(Lwgio) (93 (9955 = o3l Jad)

)
x

h 00 = ¥(rx+0)(x" +6x)" - Vx" + \/; +—Y\&- (x" +ax)"
(o yas o/0) X" 4%

(o 30 o/8)
<) g'() = X" -cos(x") + Fcotgx(1+ cotg"x)
(o s o/0) (o i /) %
(o yi o/8) (o 05 o/78)

-

—Asin-cosx- (8" + ¥X +1) — (X + ¥)(fcos x)
(x" +rx+1)"
%’—/

(O)Ai °/*A)

@) h'(x)=

(frasgia) (p35 (30 = p oz )

y=f(u):>y'=u’.f'(u)(°)&; o/ Y0)

y' = (Y(+tan” ¥x)— ysinx)-f'(tan Yx + YCOSX) (o 05 o/ ¥0)

sy = (Y1) =) T o+ V) 2 Y = YY) (o i o/ YO) A
Y v

"= —=—(00i o/ YO

y'=vxo Y( > )

(frasgia) (p35 (30 = p oz )

(O)A-; o/ )‘é,&-; w-w)) (sﬂ-"

-y —ky‘ v IAY

= A

(6,305 o/ Y) .l ydy Goiino [, 1] 3L yof (&

Pl Eine abails ol 30 T azcl )5 coawl dtwgua b X = =1 30 F(X) 92 1 Jadd (0,505 o/ YD) .l yy dyUgaiion [T, o] 03 yo f
(0 p03 o/ &) ol

(bawgio) (pgd oy = pylezr Jad)




